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ECONOMICS HSSC-I
SECTION - A {Marks 20)

Time allowed: 25 Minutes | Version Number [1[8 5[5

Note: Section — A is compulsory. All parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed In the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Choose the correct answer A/ B/ C /D by filling the relevant bubble for each question on the OMR
Answer Sheet according to the instructions given there. Each part carries one mark.

)
?2)
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| 18)
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20)

The book 'Wealth of Nations' was written by:

A Lionel Rabbins B. Adam Smith  C. Alfred Marshall D. Keynes
Which of the following is true about economic faws?

A They are perfect

B. They always provide accurate predictions

C. They are conditional

D. People are penalized when they violate them

Which of the following is true about human wants?

A They are always according to the resources B. They are limited

C They are unlimited D. All wants are equally important
Initially, when a person consumes more and more of a commodity continuously, its Marginal Utility wili:
A Fall B. Rise

C Remains the same D. Be Infinite

Identify the quadratic function.

A 3x+15=12 B. y=2x"+5x+6

C. y=4x +2x% +6x+50 D. 2% +5x+6=0

An expansion of demand occurs when:

The supply curve shifts rightwards

Demand curve shifts upwards

The demand curve shifts downwards

The quantity demanded increases when the price falls

If price increases and total expenditure remains unchanged, the elasticity of demand will be:

oow>

A Greater than unity B. Less than unity

C. Equal to unity - : D. Equal to zero

An increase in the cost of production will:

A Shift the demand curve upwards B. Shift demand curve downwards
C. Shift the supply curve rightwards D.  Shift supply curve leftwards

How many fundamental factors of production are thera?

A 4 . B. 3 C 2 D. 1

The law of increasing return is also known as: :

A Law of diminishing cost B. Law of increasing cost

C. law of constant cost D. Law of diminishing return
Production that results from one additional unit of labour, all othér factors remaining constant, is called:
A Average Product B. Marginal Product

C. Total Product D. Total Cost

identify the fixed cost.

A Expenditure on raw material B. Salaries of the temporary staff

C. Payment of eléctricity bill D. Salaries of the permanent staff
Marginal Cost curve intersects Average Cost curve where:

A Marginal cost is minimum B. Average cost is minimum

C. Marginal cost is maximum D. Average cost is maximum

If Price is muitiplied by the Quantity (P x Q) we get: ‘

A. Average revenue. B. Marginal Revenue

C. Total revenue D. . Total cost

Which of the following is called demand curve? :

A Total revenue curve B. Marginal revenue curve

C. Average Revenue clrve D. Average cost curve

in a perfectly competitive market, if firm’'s average revenue is equal to average cost than:
A. Firm earns supernormal profit B. Firm earns normal profit

C. . Firmfaces a little loss D. - Firmis working at shutdown point
In perfect competition:

A All firms produce homogenous product B. All firms produce differentiated products
C. A few firms dominate the market D. Consumers have limited information
Under the conditions of Monopoly, the demand curve of the firm is:

A Positively sloped B. Negatively sloped

C. Perfectly elastic D Perfectly inelastic

The “Theory of Rent” is associated with:

A David Ricardo B. Adam Smith  C. Alfred Marshali D. Keynes
The reward for Capital is called:

A Rent B. Wage Cc Interest D. Profit
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Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a) one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION — B {Marks 50)

ECONOMICS HSSC—I

Q2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)
(i) What is normative science?
(if) In economic analysis, what do you know about the inductive method?

iii) Define Indifference curve.

(
(iv) Differentiate between dependent and independent variable.
(v) What is meant by demand?

(

vi) The price decreases from Rs.20 to Rs.18. Quantity demanded per month increases from 50 to 60 units.
Calculate price elasticity of demand by using point elasticity formula.

(vii) What is meant by supply?

(viiy  What is meant by ‘movement along the supply curve'?

(ix) If both demand and supply rise equally, then how will it affect the equilibrium price and quantity?
(x) Write down the three characteristics of land.

(x1) What do you know about extensive cultivation?

(xii) Define Labour.

(xii)  Write down three factors which affect scale of production.
(xiv)  Write down any three Diseconomies of scale of production.
(xv) Write down three merits of large scale production.

xvi)  Define law of increasing return.

xvii)  Write down any three features of perfect competition.

xix)  What is Quasi Rent?

(
(
(xviii)  What do you know about shutdown point in perfect competition?
(
(xx) Differentiate between ‘Net profit' and ‘Gross profit'.

(

Xx1) Write down any three determinants of real wages.

b. Attempt any ONE part. (1x5=5)
(i) Find the equilibrium price and quantity with the help of following demand and supply equations:
Q,=12-2P and Q =6+P
(ii) Derive the functional equation of supply with the heip of following data:
Price Quantity
2 8

L6 16
‘ ' SECTION — C {Marks 30)
Note: ‘ Attempt any THREE questions. All question carry equal marks. (3x10=230)
Q.3  State and discuss the definition of Economics presented by Adam Smith.
Q.4  Explain the Law of Diminishing Marginal Utility with the help of schedule and diagram. Also discuss its
importance.
Q.5  Whatis monopoly? Explain the price and output determination under monopoly.
Q.6  Critically examine ‘Marginal Productivity Theory’ of factors pricing.
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